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Problem 1. If ¢ = {4, 3} and b= i 2,1}, find the unit veelor & and the vector (B 2b,),
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Problem 2. T'wo forces £71 and £2. with magnitudes 10 [bs and 12 Ihs respectively. act on an
object P as shown in the diagram below. Find the direction and magnitude ol the
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Problem 4. A parametric curve is piv 911:_ F Find its Cartesian equation.
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Problem 5. I'ind the vector equation of a line passing through the points (1,2) md (—1,4).

\’ f\b\' w\\quc‘. \ T
Y(t) = %

\x)

<}
= Fo + £
b - 5
,ﬂr “('D = < l) 2_> A
\( o= a2 = <~—'2., =D
Cfina0) Cinvhal
Veclor Eq%*

Y)s vy + <22



\
—/2.<\f
2

Problem 6. Fyuluate the following limits: ~
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Problem 7. Find tle derivaiive or T [or the following: c’g.
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Problem 8. lind the —for the curve given by z = 1 -, y = £2-3¢t+1
6 =

- §4., R d? sl “ﬁ I
Pr: @t de ot = 4ol oo (-=#,-1)

poi s dz/de 2 ‘l-b—%\ o 3 |

AR/ Ak -3t lpon 30O z

Problem 9. T)1Herentidm e— WAL \Daﬂ km
|n -a ~ |u\ ( ) - \v\(é"‘_') x Y Cx"‘«—l)’; —\ﬂCxﬁ)\‘ _ ‘n Cx.,,:‘_g)a.

- A~ -



l“'d = ( ) = "\(P-:) e L T S laloe) " a5
\)q)-e, + 2>|an"+1.) - 'ﬁ'l\n (7(4-(_) --'2-\9'\6(‘)'4-5_)

lngy = X
2
oL w0 _vwQ _ 2 (%)
(P+2) (X+) )

2
( |+ b gt K e" G<1'\"—)
e 2 XH x%s ) " =
‘d % (x+)* ( x’+s)
Problem 10. Differentia_ - ﬂcx)"\(ﬂc L\aN e l—b
Sw X AL l‘&” ‘

In ‘d \V\ Cq.,( —KH) s
lh~& (Smx) lw C"b( —X -H_) P

<"

1.y" = PN C 8x~)
a ﬂ e’ (<) \]V\ Ctﬂ( -X-{—I_) + Swo). e

[MX ‘v\ (‘h("-—x 'H) e (Sux )(Sx-&)] qux XH Slnx

L x> —x+



6 =) x> =L W
Problem 11. A enlture starts with 1000 bacteria and the population triples every half honr. ¥
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Problem 12. The length of a rectangle is decreaging at a rate of Tim/s while the aréa of the

[reelangle femains constant, low [ast is the width of the rectangle increasing when ils lenglh is
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Problem 13. Fiud the values ol a and ¢ which would make f{x) continuous and dillerentiable
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Problem 14. Use linear approximation to {ind an approximale value for (1.97)%.
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Problem 15. Find the absolute maxima and the absolnte rminima for _m

the interval
ﬂ/l ?’Cx) ok -’bx =0 -

o B T B e XS

Le2) = \x 230) _53’ - BB < Mesoldz weximuwa

rF(D) = [l & MAbsolnlte minima.
w’»’

1;0{-_).-. | + ‘2.'-}(%)—%-5 = 4s

SO |
i
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Problem 17. Find the following limits.
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Problem 18. Approximate the arca under the curve [f{e) = 221 1 on the interval [1,7] using
3 rectangles of equal width aud the left endpoits of each rectangle.
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Problem 21. Evaluale the [ollowing intcgrals:
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Problem 22. T]']hnf a function f(x) is shown.
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a} Om what intervals is f concave up?
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b} On what intervals is f concave down?
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¢} What are the inflection points of f7
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d) Where does f have a local maxima? A local minima?
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